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settings are written on the plot. From this, you

will see the shift of the peak.

 Normalized the distribution as N*prescale/(1-
DT)/current/time, assuming other factors are
same for each run as Karl said

e 3 cuts: trigger T1, track #=1, Cerenkov cut
(particle PID) to exclude particles other than
e_
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e The distributions do not change much with
carbon OUT runs (only He4 in target)



| LIDC 1019 100N
LITNO m1lO1l4 104V

Centered elastic peak runs, P0=1.7028 GeV
Septa current scan from 480A to 380A

Run 1812: 480A

Run 1820: 380A



5000

4000

3000

2000

1000

5000

4000

3000

2000

1000

9

LHRS

L.tr.x

1812 focal variables

h

L.try

h2

Entries 497667
Mean -0.2118

10000

8000

6000—

4000—

2000—

I\’III\lIII\lIIIIV fob o]

Entries 591821
Mean 0.02663
RMS  0.03855

—%.2 015 -01 -0.05 0

005 01 0415 02

__ RMS 0.2046

_I I | | 111 | 111 ‘ 111 | | | J e | | Ll | L1l

1 08 -06 -04 02 O 02 04 06 08 1
L.tr.th

_ h3

- Entries 591821

— Mean -0.03581

: RMS  0.05264

= 1 | | 1111 | 1111 | 1111 | 1111

2 015 -01 -0.05 0 0.05 0.1 0.15 0.2

L.tr.ph
h4

14000_— Entries 591821

L Mean 0.03768

= RMS  0.02383
12000(—
10000~
8000~
6000—
4000
2000{—

TR AT :

93750.08 0.06 -0.04 002 O 0.08 0.1

If cut on elastic peak
at dp plot, x will
have only the peak
on right too.



LHRS

1820 focal variables

L.tr.x L.try
h _ h2

1 400__ Entries 131805 1800_— Entries 164643

- Mean -0.2119 - Mean 0.01318

r 1820 RMS  0.2439 1600 RMS 005124
1200_— F

B 1400
1000— C

r 1200
8001 1000
600 800

i 600
4001~ F

C 400
2001~ 2000

O_I\\lI\llllllll‘llll\liI\rlrlrllr el L] = 7]III‘III\‘|||\||II\|IIII|II\I -
-1 -08 -06 -04 -02 0 02 04 06 08 1 —%.2 -0.15 -0.1 -0.05 0 0.056 0.1 0.15 0.2 If Cut On elastlc peak
at dp plot, x will
L.tr.th L.tr.ph
3 ha have only the peak

B Entries 164643 1000 Entries 164843

L Mean -0.03506 L Mean 0.02086 on r| ht too
12001~ RMS  0.0628 L RMS  0.02934 g *

r 800 —
1000 L
800~ 600l
600 i

B 400
400; -

B 2001
200 -

= | I e 1 1 11

_%I\\I|I\II|IIII|\III|\III|\III|IIII

2 -015 0.1 -0.05 0 005 01 015 0.2

IIIIII\I|I\\|II\|III‘III|I
—%.1 -0.08 -0.06 -0.04 -0.02 0 0.02 0.04



x_focal vs phi_focal (left) & x focal vsy focal (right)

L.tr.x vs ph

0.8

0.4

.I-I-.I..l I"I..I.‘ 111 ].I-I | ‘ 111 |.I'I.I

Lirxvsy

hh1

hh
Entries 591821
Mean x 0.03768
o Meany -0.2188 ¢
C{RMS x 0.02383
EMSy  0.208
—12(
10C
80
-0.2
60
-04
40
0.6 i
20

~0.1 -0.08-0.06-0.04-002 0 O.

It’s too bad, |
did not take
enough
statistics in
this setting!!

0.8

0.6

04

Entries 591821
| Mean x 0.02735
Meany -0.2241
RMS x  0.0267
RMSy 02115

60

-50

40

30

L.trx vs ph

~0.1 -0.08-0.06-0.04-0.02 0 0.

hh

{Mean x 0.02087 |

1RMS x 0.02933

Entries 164643
p
Meany -0.2221

RMSy 0.248

—20

-15

10

_ [
-0.1 -0.08-0.06-0.04-0.02 0 0.02

1 -r'.|'.-i Ll
0.06 0
L.trxvsy
1 hh1
cC. . . . ) . Entries 164643
080 .. oo i |Meanxootn

0.6

04

1Meany -0.2325
RMS x 0.03488
RMSy 0.2467

14

12

10

|.-|.|' [ |'.|.'| |..i. |..| |. |. |. 11 |.

~ Lo Loa g by
-0.1 -0.08 -0.06-0.04-0.02 0 0.02 0.04 0.06




1812
L.tr.tg_dp:ph

dp vs phi_tg

hh

-0.04
-0.06

008

- Entries 591821 )
) “Meanx -0.0415
':_ Mean y -0.01591 y
ARME & 0.000S
{RMS ¥ 001639
N =N

50

40

. P

il

"DQEJ....:. ..

06 0.0

1820
L.tr.tg_dp:ph

hh

1B4E4%
.oo2soa f
001782
g.o27s7 |
001809

12

10




